1. AAEA (V2-2)x=(3- V2)(3V2 + 1) = EWH?

O1-DVE @ -2-UVI @3-V

2
13 13
@—4—?\/5 @—5——2\/5

B

L_8V2-3  (8V2-3)(V2+2)

V22 (V2-2)(V2+2)
:w:_g)_?@




@ x+6
® x-3

@x+2

@ x+3

L= L= ]

1 1 1
1) B
1 1
I EY
A
\

Holol

F2 2 +4x+4=(x+2)20lB2,
o] o7t x + 2 1 HAF T Hol7t 2ot




3.

ohe 44 SO Feld -1 - VB of B s Ae?

DR N -} C2,
-5 -4 -3 -2 -1 0 1 2 3

® A @s ® C

@ D © &4 9o

-3<-V5<-2
—4<-1-+5<-3




filo
)
i
ol

Vi=x, Vio=y 2t & o}, 5v5+3vV10-10V5+ 14 V10
SHA ax + by 2 LR 5= Qleh o] W, 2a - b 9] e

@-2 o5 @3 @ 5 ® 27

5v5+3v10-10V5 + 14V10
= (5-10) V5 + (3+ 14) V10
=-5V5+ 1710

= -bx+ 17y
“2a-b=2x(=5)-17=-27




5. x<0d ™, /(-3x)2%- /(5x)? - /(9x?) = V5

20
oli

F?

® -5x @ x @Em @ 11x ® 13x

B

x<0 g, -3x>0, 5x<0, 3x<0°]|BZ
VB - P - /)

= —3x — (=5x) — (-3x)

= -3x+ 5x+ 3x = bx




